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== AF3U mBE FREH (1208 | t/9h134 (by9h134) 994137 (1994137
(IEES FOAE BB LI T AHET 8H(&)| A~ &H 11.5 | ~1&HE 10.2
EES Jv A E Hi ™ 2Q1H(KR)| A& 1.4 | A& 10.0
EESES 43 8L AT 20H0K)| A1&EH 8.7 | AiEH 7.7
NEES EEE=P] HA™ 2Q1H(R)| A &H 11.6 | ~1&H 10.4
5 [HE EXxF¥ BB LT ASFHT 2Q1H(R)| A &H 11.6 | ~1&H 10.3
6 |Fx NTTA LT ASFHT 200 (K) [ A& 12.9 | A%E 1.7
[EES NTHA HA™ 21H(KR)| A& 12.8 | A& 1.4
8 |Bx NvEroY HUTERIZHE | 1H(&®)| AM%EE 12.1 | A~ &H 10.9
9 [Zoft 52 ERLHHETEE] | 4H(B)] A i&E 10.3 | ~&H 8.4
10 [Zoft g 8L i FHET BTtk 5HCN)] AigHE 12.8 | ~%E 11.2
11 [Zofb R LI R EH] 8H (£) 15.9 8.3 138.0 7.9
12 [Zoft B LT Zh B H] 12 (X) 15.9 5.5 116.0 14.4
13 [Zofb B BB L i s m B R 6H(K) | A &H 11.5 10.0 7.5
14 |[Zofb R BB L i A ma B R 6H (K) 13.8 8.0 110.0 6.4
15 [Zofb EAR ERLm=FEHBTILO [ 18H(8) 10.5 9.3 94.8 7.8
16 |[Z0fb AR (z0) L LT A EH] 13H0K)] A i&H 13.8 | 33.9 5.9
17 |[Zoft HH 5T X BB LLImh A~ HT 15H (&) ~&H 12.8 | A%E 11.3
18 [Zofb BR BB 2T 4tH(B)] A &HE 9.1 22.5 4.2
19 [Zoft A2 8L A ST 206 (K) [ A& 11.3 | ~&E 9.2
20 [Zoft INFIX 8L EHRT BTt 5HON)] AigHE 11.8 | A%E 10.4
21 [Zofs INFIX ERILHHETEE] | 6H0K)|] RAi&E 12.9 | *%E 11.5
22 |Z0f INFIX ERILHHETEE] | 6H0K)|] RAi&E 12.7 | *%E 11.0
23 |[Z0f NFIX B LR BTSRRI [ 20B0K) | A&EH 10.3 | ~&HE 9.1
2L [Zofb T LT ZHE ] 19H(CN)|[ R~ &HE 12.3 9.0 6.0
25 [Zoft T BLUmRENZFE | 11H(B)] A &E 11.5 | A%E 10.4
26 [Zofb T EBILUmE#ETZHE [ 1H(B)] ~MEH 10.5 | ~&HE 9.4
21 [Z0fb T BB LI T AT 21H(R)] ~%HE 8.9 | ~%&H 8.1
28 [Zofb T BB LT AT TH(R)| A~ &E 1.7 | *%E 10.4
29 [Zofb T BB A SFET 28&E)] ~%E 12.8 | A%E 11.4
30 [Zoft T LU EE R 4tH(B)] A~ &HE 1.7 | *%E 10.5
31 [Zofe T BB AT 12HCN)|[ R~ &HE 1.4 | ~1&EH 9.9
32 [H29FEEEXK K (ZKXK) 2EEINT 155 (&) ~&d 11.9 | F%E 10.5
33 |H29OFEEF E (FF) BT = E ] 198 (N)| R&H 10.4 | A& 9.0
34 [H29FEEXK X (BX) =FE 8H ()| &l 10.6 | ~&HE 9.3
35 [H29FEEEK X (BX) B LT EEBIZHE [ 145 (K)] & 1.4 | ~1&E 10.2
36 |H29OFEEXK 5K (BX) [BLUHAFE] 155 (&) ~&H 12.3 | *%E 11.1
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